ASSEMBLY INSTRUCTIONS

Drawer Bed
Assembly instructions

Dear Customers,

Thankyou for purchasing our product. Please read thisinstruction manual

carefully after receiving this product. It will help you assemble this product

quickly, safely and correctly. You can keep this manual for future reference.

MADE IN CHINA

1/10




ASSEMBLY INSTRUCTIONS

IMPORTANT

Please follow the instruction manuals and use a pad to protect
the product during your assembly.

-

==4% (1 "'
%%Qﬁ [ogs

_______________________________________________

/

Note:
1. Should be assembled on flat ground to keep balance.
2. Before completing the installation, do not tighten the screws.

For easier and better assembly, 2 or more adults are
required.

2/10




ASSEMBLY INSTRUCTIONS

Notice: Do not tighten the screws too tightly at the beginning of the assembly. After
each hole position is matched well, with gently force to screw, if there is no problem,
then tighten all the screws.

3/10




ASSEMBLY INSTRUCTIONS

PARTSLIST
Bx2PCS Cx1PC Dx1PC

Ex2PCS Fx2PCS Gx2PCS Hx4PCS

R %%%§§%%%%> iiiiiiiii

‘I |
Ix8PCS JX8PCS Kx4PCS Lx4PCS

!;!!!!;!! QQQQQQQP

Mx4PCS Nx4PCS

.

1 x13PCS|2 x4PCS |3 x2PCS |4 x64PCS|5  x64PCS

@)W)PM)))W))M @)l))9)))))9)99)99))9))9))) @)I)9))9)99))9))9))9))9))9))9)))
M8x25 M8x40 M8x55 M4x40 M4x13
6 x64PCS|7 x12PCS |8 x1PC
S>

= |

-

4/10




ASSEMBLY INSTRUCTIONS

" _|4PCS

5/10




ASSEMBLY INSTRUCTIONS

6/10



ASSEMBLY INSTRUCTIONS

4PCS

S>
—

7/10



ASSEMBLY INSTRUCTIONS

8PCS

8/10




ASSEMBLY INSTRUCTIONS

M6x25

3PCS

9/10




ASSEMBLY INSTRUCTIONS

10/10


http://www.tcpdf.org

